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OMB SYNOP U (All: 2163)
mean: -0.1300 rms: 1.4066 std: 1.4006
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OMB SYNOP U (Used: 1373)
mean: -0.2048 rms: 1.7655 std: 1.7536
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OMA SYNOP U (Used: 1373)
mean: -0.1051 rms: 1.2897 std: 1.2854
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OMB SYNOP V (All: 2163)
mean: 0.1463 rms: 1.6362 std: 1.6297
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OMB SYNOP V (Used: 1355)
mean: 0.2335 rms: 2.0673 std: 2.0541
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OMA SYNOP V (Used: 1355)
mean: -0.0190 rms: 1.4892 std: 1.4891
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OMB SYNOP T (All: 2592)
mean: -0.2317 rms: 1.8627 std: 1.8482
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OMB SYNOP T (Used: 1630)
mean: -0.3685 rms: 2.3489 std: 2.3198
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OMA SYNOP T (Used: 1630)
mean: -0.1886 rms: 1.5896 std: 1.5784
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OMB SYNOP Q (All: 2357)
mean: 0.0762 rms: 0.3588 std: 0.3506
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OMB SYNOP Q (Used: 1427)

mean: 0.1259 rms: 0.4611 std: 0.4436
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OMA SYNOP Q (Used: 1427)

mean: 0.0678 rms: 0.3571 std: 0.3506
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OMB SYNOP P (All: 2287)
mean: -0.1632 rms: 0.7602 std: 0.7424
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OMA SYNOP P (Used: 1455)
mean: 0.0264 rms: 0.7746 std: 0.7742
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